
By Lizandro D Miramontes, RockyTop, Dated 06-05-2021 Red Fonts are inputs, Blue Fonts is Calculated
input same Nw for ZI & ZK to calculate Correctly all inputs are decimal inch

Let 
ZI Worm

Nw= 2
d = .48897638
φn = 20.14
λ = 20.14

form on Z1 worm
ρni = 1.452157696
check dimension 1.452157696

d*sinφn = 0.344315222
2*sin^2λ= 0.237105945

LET
ZK Worm

Nw= 2
R= 5
Δφn = 1.208775451

90/Nw= 45
d/2RCOS^2(λ+d/2)= 0.658058416
SIN^3λ= 0.040819593
cos^2(λ+d/2)= 0.074305923
check Δφn = 1.208775451

form on ZK worm
Ƥn = 1.532715097

d*pni= 0.710070814
2Rcos^2λ= 8.814470277


